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Name Date

Subtract. Then use addition to check the subtraction.
Show your work.

1. 1,400 — 238 = _____ 2.1,900 — 1,238 = ___
Check: Check:
3.4,620—- 1,710 = ______ 4, 5243 — 2,454 =
Check: Check:
5.3,142 — 1,261 = _____ 6.2375—-89% =___
Check: Check:
Solve. Show your work.

7. A school library has 1,058 books in its collection.
The town library has 4,520 books in its collection.
How many books are there altogether?

(2]

. A town official knows how many books the town
library has and how many books both libraries have
altogether. She wants to know how many books the
school library has. How can she use subtraction
to find the answer?
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